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vtz (o i . s
) %icmm su(bs)tances is primarily resp onélb]e for acid raip 9 e
(A) Sulphur dioxide (B) Nitrogen gas (€)' Carbon monoxide (D) Methane
2. AT A9 G ol o g T ) g I € 7
(A) s @®) RorenhE (O = . (D) A
Which country is the world’s largest producer of wind power.? _
(A) Germany (B) South Africa #{(C) China (D) Bhutan
3. ¥R o IWIIT I & (ST 2024 TF) ? .
@) s q’r.-s-rﬁaaiam(aj 1HB) ot iz ey
(C) e grEs {HD) #tum J¥ar
Who is the Vice President of India (as of June 2024)|? %
(A) Sh. M. Hamid Ansari ¢2(B)  Shri Dh@tmendraPradhan
(C) Shri Jagdeep Dhankhar ©(D) Shrj iah Naidu

4. 2016 % ST TA-STI TR T A FHSeT
(A) THTY] <1l ok IR UK Sfcraiey
(B) WA BRI 1 T fer
(C)  Srlfes oY) Frtt, Srenfireht geaiaor St g AT .

(D) SRHATUL-Hh & 3t TITHT |
What is the purpose of the Indo-Japan civi greement signed in 2016 ?

(A) Ban on nuclear energy usage
(B) Joint development of nuclear weapon &
(C) Cooperation in civilian nuclear énergy, tecgy transfer and safety standards

(D) Establishment of a nucled I
5. folt @ ¥ st S AT AR ST e T & ,
(A) TIR ) Tawm PC) Yo, (D) ST
Movement of peopl ut of an area is called &
(A) Death rate B) Growth rate (EXC) Migration (D) Birth rate
6. amgﬁaqﬁ@ﬂ(m#wma@ﬁﬁaﬁ?
In which y, igarh Muslim University (AMU) set up ?
(A) (B) 1901 (C) 1920 - (D) 1875
7. OIS GhahIA-AT e fedt 7R Heehd wrredt & frsvegr arer Steftren @ ¥ o s srar 0
(?' A, (B) &ML (C) @& (D) SRS
@ ¢ity in Uttar Pradesh is known for its educational institutions specializing in Hindi and Sansk

| 11 i Eﬁ -
Q’A\ Varanasi (B) Kanpur EFC) Lucknow (D) Prayagraj
8. U5 -mmmwwmwmﬁm%mww%aﬂtﬁﬁmsﬁmﬁfmmﬁ

? ' M, :

(A) SEWWEd (B) TS o) A (D) w e fiig

Which Indian economist is known for his work gwdfare economics and received the Nobel Prize
Economic Sciences in 1998 ?

(A) Jagdish Bhagwati (B) Raghuram Rajan ?J(C) Amartya Sen (D) Manmmghan Ringl
9. S AT o o ¥ Rt 9 2

W) RAFR  (B) (©) e (D). S eftr

Which author wrote “Jane Eyre” 9
&) PmiyBronte  (B) AmeBrone ~ (c) CharlotieBronte (D) GeorgoEliot
AUT-24 Sopse L N Searedsans Page2of2d




16.

17.

18.

-

10.

11.

12.
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14.

15.

(a) ¥ B)  sienf (© e (D) ¥
Twitt%' is ?1 . based communication platform.

(A) Ema (it (B) orp (C) SMS (D) Chat
v fagere %‘\’T%WF@TW%? &

(A) = . (B) ey ) L] (©) AU (D) TfeRET
India shares the Lipulekh Pass with which co {} "

(A) China . (B) Bangladesh ulg}’ (C) Nepal (D) Pakistan
fiqor et H - G2 3 s &

&) T e B) T ® © W (D)

Which currency 1s in use in South Korea 9~ ©) )
(A) Won (B) Yuan (C) Yen %ggit
ST BT ST 0 st Ry o e S I SR g |
(A) TEIW _ (B) Ffdmr (C) HEAT (D) TTEARR
G aia attack is where a computer system gr, network is infecte omputer Virus.
(A) Hardware (B) Phishing [[] (C) Softw Y (D) Malware
|8 T & 3T ARG H ot aaRER W

() TAIRER 5 (B) FhIRER (D) fordry Hfermm

All human rights of a person below the age of
(A) Child Rights (B) Legal Rights (@
e R o5 Y76 o1 TS °ff 2
(A) W7 2004 (B)
When was Micro Irrigation launel

(C) March 2002 (D) January 2004
T
il .
&8 © 35 (D) 33
@
0 ® AT hl T FA
g © wErdem
What is the first step of research ? ®
(A) Selecting a problem (B) Identifying a problem
© Searching a problem (D) ‘F inding a problem
"L‘fﬂmmwmﬂn%mﬁqﬁw%? _
(A) 4wz 25 Yeve (B) 8 fime 20 Aawve
©) 2fmez30dwE | (D) 6 fire 15 BvS

about how much time ?
(B) 8 minutes 20 seconds
(D) 6 minutes 15 seconds

The light from the Sun reaches the Earth i
(A) 4 minutes 25 seconds

(0 ot 30 saconds e il e e

Human Rights (D) Special Rights

AT 2002 \(D) SHat 2004
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e R TR B e STl Bt AT T & | 78 SOt ot 21 3 o FmeTfa 8 ?
(A) TS fehen (B) 3itefemn
g) Iag?ﬁnw IR e (D) el

e Indian Constituti ' i i
g riviaie r:t(:-l; grovndes for a parliamentary system of government. Thi
(A) United Kingdom
(C) United States of America
MPC HTqH &I ___
(A) W difere et
(C) Wl difert wiEdt
The full form of MPC is
(A) Money Policy Committee
(C) Monetary Policy Committee

i T e foved Gt R 2

“(B) Australia
| (D) Canada
ol

s system is based on t,

(A) SR fomm
(C) &hd TR

The book Vinaya Pitaka is related to :

(A) Thoughts of Zoroaster
(C) Sanskrit Grammar

GDP o1 1 T S ST A

(C) e sl o (RBI)

Which Indian organizationis resp 11
(A) Ministry of Fina B)
(C) Reserve Ba dia (RB) L‘?)
te W‘W@wﬁﬂﬁ’%@}l%faﬁm%?
) e SRl

@) Rules of the Buddhist Sangha
C//; i ["'(P) Preachings of Mahavira
% - ..

H R ?
«(B) mﬂgﬁﬂﬁﬁtﬁﬁwa@ (SEBI)

Fifterh FETed (NSO)
ible for calculating and releasing the GDP data ? :
Securities and Exchange Board of India (SEBI)
National Statistical Office (NSO)

T =Ed

(C) SR AR (D)

author is famous for writing the psychological novel “Crime and Punishment” ?

e ?

(B) Fyodor Dostoevsky ©) Vladimir Nabokov (D) Anton Chekhov

Sl I (B) o T . f:‘?IC) Rt (D) HERS
(=N g ‘7 ‘_-‘
5 ;?;nf:ﬂjl ofLaOEﬁ) Lima '-‘a.._(:sc) Vientiane g(11%)§§1viuscat
fodet FaT i Wqﬁwﬁf@ﬂaﬁﬂﬁl yH |
e l : sk b | in the quarter ending September 2016.

India’s Gross Domestic Product (GDP) grew by l =1

<1 el

What is the main g .
To conduct jury selection
To render 2 final verdict

ﬁama:ﬁa?mg@aww%? &

{C) 13% (D) 8.5%

()

ﬁtﬁmﬁﬁﬁmaﬁﬁ%m

oal of 2 pre-trial conference ?

o To dismiss the case . _
e To prepare 10F trial and discuss settlement optmis ________________________________________
(D) JPPTE e page 4 0f 24
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FIFRIR |
() T B) HfRe
is the act of intimidatinmmw (C) wrgE-aeht (D) wE=w I =

T i g h :

through the ?se;’felectromc Mmeans or m?)?::?: n}:, defa@ln " gr any other form of mental degradation
A) Cryptojacking  (B) Creg; ch as social media.

(A) redit card frayd () Cyberbullying (D) Identity theft

g i
28. WGTW@ WW%T%WW%?

(A) for FIETS (WTO) ,
) PadE (B) M@H fouerm & (BIS)
i & (D) R q3THI (IMF)

S
(A) World Trade Organization (W’Ton{%pth and predictable trading across the natio
(€) World Bank (B) Bank for International S (BIS)

! e} (D) International Monet
AT P R ey © : °“°% :

What is the GST rate on mobile phones g?)[ndia, 7
A) 5% (B) 18% © 0% s

y0, S T T AN F o aref 2 V
(A) TS (B) s oref © P (D) @ im
What does the acronym “TBT stand for on social medi p
(A) True Blue Tuesday (B) Throwback Thursda (&e ack Time (D) Today’s Best Thing

31, CRISPR-Cas9 mem%ﬁm g\
i

(A) S T HIET B)” T T
() EFTAT D) 7 i 1 GEwr

The CRISPR-Cas9 technology is use ‘
(A) . Editing genes (B) Detecting earthquakes

(C) Creating vaccines % (D) Synthesizing new materials
3. ‘W‘q‘%ﬁ cNBELD 9

() wferes shr AT A (B) e farf 35 forg 7 sheffeeat

) fofors (D) G faftr

What is the stional Maritime Day 2024’ ?

(A) Navige .; the Future : Safety First (B) New technologies for greener shipping

€ i i (D) Sustainable Shipping
33, WA ¥ gercHT AT ] YT o URe el IaT8L0T T ;

() @ - ® P as QP Fi (D) RSt

The first successful instance of Satyagra!}ii led by Mahatma Gandhi in India was : |

(A) Kheda (B) Ahmeda (€) Champaran (D) Bardoli
34, DI sridter ek e A IO il ) |

(&) e ot § ¥ () WeeE

(C) g Feftar ® (D) SHcrteeT S FHEW,

"(l} Quit India Movement was Jaunched in reRppne” 2(1)3) The Rowlatt Act

) The Cripps Mission (D) The Jallianwala Bagh massacre

(C) The Simon Commission .
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36.

37.

38.

STl TR 1 AT S T Tl 3 TS AT HISaT Tt 2 &, ey ar e 7 afEd SN

FATR?

(A) T2 (B) T4 (C) TR | (D) =43

Which Article of the Indian Constitution provides for the formation of new states and alteration of areas,
boundaries or names of existing states ?

(A) Article 2 (B) Article 4 (C) Article 1 (D) Article 3

it i et wfdt i st & Rt e A o € ST F ot d o I ST & |

(A) SH ®) @ (é? B (D) =

Rabi crops are sown in winter from October to D@f:mber and harvested in summer from April tc
(A) June (B) July _ : (éf August May

IR & TRT AT 717 T e 18 2

(A) i gea i et e @31

(C) SATIET TS FTA! T U HEAT
(D) Torfiw sem =t fafafi s

What is the purpose of the National Secunty Guard in Indla
(A) To oversee border security

(B) To conduct counter-terrorism and anti-hij
(C) To manage disaster relief operations &

(B) Wﬁﬁﬁ%ﬁaﬂtm%ﬁ%ﬁwﬁmw@ %ﬁ?

(D) To regulate the financial market

§ Eﬁ?ﬁﬁﬂmﬁw@w%v

a?,ﬂmﬁn

(B) e ke amfen wiet = fif3 ]
(©) 8ot o AERET = m%| &%

.;;"3 m@rm@% |
What is the role of artificial intelligence (Al) in shaping future global economies ?
(A) It widens a ween skilled and unskilled workers.

(B) Itregul onomic slowdown.
© It repla% an jobs.

(D) ¥ TOEE,

(D) It dfive: ation, productivity and economic growth.
39. Al J 0-21-14- S?ﬁIULYﬁTrr "
If JUNE 10 21-14-5, then JULY will be ]
(A)0-8-23-25 (B) 14-12-8-10 @), 10-21-8-23 (D) 10-21-12-25
40. aﬁtﬁa;@mqﬂ Wﬁﬁ,wﬁg%w«@w% a‘mﬁanaﬁngaﬁ%a%z
(A) T (B) AT © (D) B
If Sunday is coded as January, Tuesday as March, Thlffghay as May, then Saturday will be coded as :
(A) August ®) July &) June (D). April
41, e o dey e, SEl ST & S A g ey Frefofaa 3 8 foraa 2 2
(A) fufa =) (B) T (C) e (D) I
nClock" is related to "Time" in the same way as "Map" is related to which of the following ?
(A) Location (B) Vehicle (C) Cartography (D) Travel
e SRR L Sy |
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B e ey .
a) FAE R 3 3 e e et & A g et 8, e &
© fareepe TOT fSreTT Sy 2 (B) AOTE B :
I Mani 18 taller than Tony but shoyey o (D) e & I
then Mohan is an Deepak and Tony is just as tall as Mohan but taller than Gokul,
p) Shorter than Tony
©) Just as tall as Mani (B) Shorter than Mani
(D) Taller than Deepak
o aﬁ‘ M+N$T3]¥$%M,Niﬁfm%|
M- N 348 M, N s o
M XN M N, 1,—9
et i & P S T & e .
d - b %ﬁﬁx;{}fmm%,m“xmﬁﬁgw%?
(A) YL (B) ‘X2~ ol
J Qe L4 . ] (C)-1X X Z+
fM+ eans M is the sister ¢ ”‘m ‘}- qp’:/b
M — N means M is the brother of N. @
M XN means M is the daughter of N. ¥ % '
which of the following shows the relation that X is the maternal of Y, where X’s gender is male ?
(A) YXZ+X B XXZIY ©) Y D) ZXX+Y
4, P,Qamré%,@Rfﬁrm%ls,Tasmré%wT, %Qﬁ%ﬂmm%? %g 0
(A) SfiST (B) =it (D) =T @ :
P is the brother of Q, who is the sister of R, § er of T and T is the mother of Q. How is S relate o
t0Q? ) ‘ x X
(A) Nephew . ~~ (B) Aunt (C) Niece ?:Y (D) Uncle @
45, Frefefaa & & 545 X 545 - 125 ? TR TR ?
Which of the following is the ontput of 5456 545125 X 125 ? f,-m > i
(A) 285400 00 &) (C) 286500 (D) 281400 d b
i | 9 . | :
4. A,B,C3RD ITREIA,C B,Dm%m,c%mﬁaﬂt%mgﬁqﬁaﬁaﬁt%n C@
Dade | e e
) 2R (B) © w (D) W PP
A:B.C D)are playing a game of Carrom. A, C and B, D are partners. D is to the left of C who is
facing east. Then D is facing :
(A) South (B) West (C) East (D) North
)
- - F o R e e T IR A |
ﬂﬁmm@u.mmﬁmm%ﬁﬁ?ﬁ@?hﬁ@aﬁwé?
Observe the following series carefully and answer the question that follows.
>
C$1%E721! @1 *#@A7* ﬁgifmesecondhalfofthesen’esisreversed?
How many numbers are followed by ana o 1 L
® o ® 3 oY e A e
o S S A T e IR RN Yy




48. ﬁﬂ%ﬁﬁﬁmﬁﬁ@ﬂﬁmmmﬁﬁﬁﬁiﬂﬁﬁﬁﬁm%l
ﬁaég@aﬁﬁ%mmmﬁrréﬁ&mmaﬁwaﬁm (ST TSI ),

efet & FehR

= 4AH | 7AH | 32AH | 35AH | 55AH | % ‘6’

1992| 75 | 144 | 114 | 102 | 108 | 543 11

1993 | 90°| 126 | 102 | 84 | 126 | 528 4}
V(1994 | 96 §u1a | 75 | 105 | 135 | 525 g
1995 [ 105 | 90 | 150 | 90 | 75 |SW0| ®

1996 ] 90 |75 | 135 | 75 | 90 ‘|fdss)| © &

1997 | 105 | 60 | 165 | 45 | 120 |49 @ g
1998 | 115, | 85 | 160 | 100 | 145 |60 %

ot gra &t i o St ot sper forsht vl 6 Tt 2

(A) 4AH (B) p5AH ( 7? (D) 35AH

The following table gives the sales of batteries ma e bya company over the years.
7 Number of different types of batteries sold by/'l@m ny over the years (numbers in thousands),

Types of Batteries Q% \\) }f
4AH | 7AH | 32AH | 35AH(ISSAH PTotal | [] _
1992 75 | 144 | 114 | 1029 o8 | 543 | @ ye
1903 | 90 | 126 | 1024} )84 | 126 | 528 f% é/’( v o

— C[ -

1994 | 96 ‘| 114 | (I5y, [\105 135 #|m525

| Year

1995 | 105 | 90sh 156" | 90 | 75 | 510 2(
1996 | 90 |78\ 35 | 75 | 90 | 465 S . =
1997 | 105 | o0y | 165 | 45 | 120 | 495 4 b r‘@
1998 [(115 ) 85 | 160 | 100 | 145 | 605 o 7
ry has the lowest total sales across all seven%rs ? ? .' / -
(A) B) SSAH (©) [JAH (D) 35AH

49, Wﬁéﬁﬁmmméaﬁmmmﬁs 9Wﬁ%aﬂtmﬁaﬂaﬁmg 10 % I
g2 _
(AY 40 3k 44 7 é:aﬁaﬂmsaﬁ

. (© dpadsitdoad < (D) 32 3t 36

Whattare the current ages 0 tony and Betty if their ages are in the ratio 8 : 9 now and will be in the
ratio 9 : 10 four years from now ?

(A) 40 years and 44 years (B) 44 years and 48 years
(C) 36 years and 40 years (D) 32 years and 36 years
AUT-24 TN e .
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(A) Wiﬂé (B) dE=r i i
Wwhich chart type is used D .
(A)l Line Chart thr)ep:Sent the relationship between tWo variables ? O
ar Chart : ™ -
(C) Pie Chart (D) Scatt
: Pl
51. mgﬁsﬁm IOOWW% ﬁ@a%mmﬁm% . ) Scatter ot
A - ,
frh) wned math -(1-3) il (©) e D) I
¢ renowned mat ematician known for di : TR
(A) Gauss (B) N or discovering the sum of the first 100 natural numbers is
. a_ ﬂ . S (25 (C) Pythagoras (D id
Find the next number in the series : £ = g
§7,43,29: 15 K S
’

&) 1 (B) 3 '
g3, W A

30 &F0E A Th FHHT q

(a) 5T

Three frien

24 seconds

starting point 2

54. gt 4 £ 3 .‘
e ?
I ) FE
ur hand at 1:30 points towards which
(D) North-East
55. ga : 1
Find the dissimilar aumber from the e <
16,236 624, 1024 N g4
(A) “;ﬁ;ﬁ/"“ia) 64 @ () 624 (D) 256 ;
I'i{l vS b &
56. ﬁﬁﬂﬁﬁmmmm: Iy 1> <
i issimi h followingc""- A o8 )¢ ‘)
Find the dissimilar pumber T m the i 4 gk
1331, 2197, 4913, 5832, 6859 L) g&« s
(A) 1331 ) 6859 @ (C) 5832 = (D)
57 ﬁvxﬁfwﬂaaa%q%,a’rmﬁ?ﬂ%mw% B)
(A) ®) (C) el (D) HEEH
PIANO is to MUSIC, then what is 10 LIT
’ MICROPHONE
(A) CRICKET (B) ARTIS (C)POETRY(D) ........................

- o



58. 9G¥ QU Hifsm ;
'ﬁﬁ%ﬁﬁ%ﬁ?:w::'ﬁﬁ'ﬂﬁ?:;
(A) T B) @ ©) 53 (D) T

Complete the analogy : e

'Otitis media' : 'ear' :: 'Cataracts' : i

(A) Bone (B) Eye (C) Lungs (D) Kidney
59. Trforiee o & welien war € o ST @ G B ¢

M%NFHIE M, NF TR

M@N#H M, NR TR

e«
]
M $ N aref 8 M, N a2 |
ﬁﬂ%ﬁqﬁﬁ“@fﬂmmm"s Qo & 34 @
@

o (A) . ﬁi %, (B) Q8P %S ) Q@S%P
v Each of the following questions pertains to the givernformation :

M % N means M is the son of N. @
M @ N means M is the sister of N.
M $ N means M is the father of N.

f@

Which of the following represents the relationship "S is the f Q" ? o
(A) Q$S@P (B) Q$P%S %P (D) P@Q%S
60- nGn uAu uRu uNu u.Iu nTn mmm Frich o ‘v 0 mméﬁ‘ql
g A 1 "R" uNﬂ ‘”I" "T"
(€ ) NIGHT (D) TRAIN

i i

61.

D

&

® | +Y
®
(A) © @ (D) m

62. A : mmm@%ﬁﬁﬁaﬁﬁa@ﬁgﬁm

appropriate figure from the Answer FlguE% to replace the question mark (7). 1

S DA R

O @ o av Q

®
(A) /4\ (B) \t/ @) \/ (D) /\

63. f alb=a-b, T YFW, p—6aﬂtq—43ﬁqtp qF AR ?
If glb=a— b, what is the value of plqif p-6 and q=4 ?

il ol |

AUT24 TR Page 100f24




Frafiry A
Neafirer weyly
(A) TERF TR yyrg
©) et v st & W (8) sfaf T Ay
A teacher tells her. students, "spgy;, D) ERIEEE LT 1 31T e o gum A ¥
implied meaning of this statemen; 9 g fegul?t:l]y leads to better academic performance." What is the
A) Studying has no effect op 5 . _
EC)) Academic performance ig r:;gem'c performance  (B) Irregular studying is equally effective
o O (D) Regular study habits improve grades
F S STHT TR ' P
O e . AP BAd deds fosfamefr 4eror  AUZS ke 1
S trFH \ u W‘“Fﬂqﬁ-%la@wmag%ﬁ(ﬁ%aﬁmﬁ%? _
s 1 50 10 pre ¥ OO g
N kaarflzl (:O%Th \,,u S home. Anug home is 3 km North-Wes iya’s home which is
12. as arun’s home. Tharyn’s home is 5 km North-West of me. In which direction
is Arun’s home from Anu’s home 9
(A) South-West (B) South-East (C) North-E4 (D) North-West
66. ettt s 3, SR R Yo% 3 aer w sy e o R | g e 1o 1 f3 7 3157 3 AT
T T T ST ST THT | 38 975 i |
fean T wee ; "INDEPENDENCE" E}] :
(A) NEEDED - (B) PEENAD 71.0(C) \BENIED (D) INDEED
In the following question, you will find four otfie ds provided alongside a given word. One of these
words cannot be formed using the letters of Q'; word. Identify that word.
Given word : "INDEPENDENCE" ™)
(A) NEEDED ©) (C) DENIED" (D) INDEED
67. FAl HI U AR Haw w@e}qaﬁﬁqa‘rmﬁﬁﬁnﬁw@ﬁwm
A V _
I T T20 frke ST TG e T 120 & | //6'/’ 7 =
" & s 4 o) |
1. : & 1 ‘
. T R 0 |
(A) 3R e T T 2 (B) T e 1 3f T & foerd 2 sEo war e
© TR {p (D) e e 2 g d _
Read the statements and select the best conclumn/conclusmns that follows/follow the assumptions made
in the statements. V
Statements : { 120
{1 I InaT20 cricket match, the total runs madg:by a team were 120.
} 2. Outof these, 60 runs were made by spinners.
{ Conclusions : _
' L. 20% of the team consists of spinners.
: inners.
?A e order.batsmfl:ln et (B) Neither Conclusion 1 nor Conclusion 2 follows
) Both the Conclusions follow (D) Only Conclusion 2 follows
© Only Conclusion 1 follows = = e
AUT94 """ =====mmmmmmmmmommmm T Page 11 of 24
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5 b 2y
i- eX
68. WY @I |
Find the missing pattern.
22D, ,6D4, C58D,.C106D
' (A) C43D (B) CCD7 (C) C202D (D) C2C3D
69. qmi@wmsﬁﬁqi y
Find the missing number.
13,1,17:2,21 %
() 9% ®) 11 © 5 (D) 7
70. uﬁmg&ﬁa&wﬁaﬁtﬁgm&%aﬂtﬁmsoﬁzﬁwaﬁt@,eﬁ o A e
(A) ufdm (B) @ © w© :.' Dy S
Which way would you face now if you turned 180 degrees to the staitting by facing south ?
(A) West (B) South (C) Eas (D) North
71, PR TR ST T o Ve 3 T ST o7 el  3Hfohd 2|
20000 1
15000 | 12900 : 5
10000 gooo 2200 7000 1N, 56‘},95 e
50'00 /*\Q\ )Y / ' WJ)
o A8 2\ ¥ & O
W(‘Q‘ .
—— —= D - - w
af et o T & 15% AT & 3R AT Qe 3 ST T W 10% S,
A e 1 AT |’ @

________________________________

A) 2.5%- B) 30% () 3.5% (D) 28%
The giv@aph shows the marked price of five different products in a showroom.
000
15
5000 E]
0!
X $ 3
F &S &
J $ .
‘& Q& -J. "
& % 0]
] Marked Price (%) vy
®

If the marked price of the laptop is 15% more than its cost price and the skopkeeper offers a discount of
10% on the marked price of the laptop, then find the profit % of the laptop.

(A) 2.5% (B) 30% (C) 3.5% (D) 28%

Page 12 of 24
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mz&ﬁﬁa‘v%ﬁmmmm%_

1 .

7is related to 49, in the same way o ;

Y 9 is re] .

A) 22 B) 7 elated to : W e
. ﬂﬁ)ﬁw"“‘?@mw?ﬁﬁ%wwﬁw%- ~

(A)- B) ®ar : -

Clouds are related to Rain in the same yygy a's' ny ((f)t E—’T . (D) ™

(&) Cold (B) Wing ) Dt —
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Examine the provided diagram and respond to the followi
8 O —> Employed people
6
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X backward ? _ ; '
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75, o U §, T8 TR T 2002 axawﬁg!{rra'rmaqe%f% 26 =R TRt WA Tod § 3 29 SAfE

. 1T < TSI 9506, 12 =112 3iolt 3T A ST S SR 36 TSI Tt &,

3 8 saTRh Al ST B G- UG & | R T ST ST STTST 36 FHTEI-5F 9gd € 2

In a suryeyit 1scovered that 21 individuals read'ElTélish newspapers, 26 individuals read Hindi
newsp@w individuals read regional language newspapers. Furthermore, 14 individuals read both

English Hindi newspapers, 13 individuals read both Hindi and regional language newspapers,

12 individuals read both English and regional language newspapers, and 8 individuals read all three types

of newspapers. How many people read only regional language newspapers ?

(A) 10 (B) 14 / ¢ ©) 8 (D) 12 @ {‘
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Choose the figure in which the question figute'(X) is embedded.
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77.  Frafafad ser & sureft gear g i - !
Find the next number in the following series :
140, 120, 90, 50,
(A) 20 “(B) 0 © -10 (D) 10
78. qugraﬁ’rﬁm @ f’? _ -
TSAT : TAFS 2 WA : : ,
(A) ST (TF) (B) wRawh ©) w3 D) S -
Complete the analogy : ol ] s
Fish : Gills :: Human : ; L]
(A) Liver (B) Brain @) Heart : ) Lungs
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(A) ¥ — ST (B) T — GERTAT (C) TT-3&

Which of the following pairs of words are most similar in meaning
(A) Stop-Go (B) Cry - Smile (C) Start— (D) High—Low
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When a cone is sliced by a plane parallel to its base ot passing through its apex, what is the shape of
the resulting cross-section ? :

Ellipse (D) Parabola

(A) Hyperbola (B) Circle
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dren, Sam, John and Ann, are eating lcecream Each child eats a different flavour from available

18, namely Chocolate, Strawberry, Butterscot and Vanilla.
Sam does not eat Vanilla. John does not eat Stra J_berry Ann never eats Butterscotch. Chocolate and
late are eaten together.

Butterscotch are not eaten together. Vanilla and Ch
Who eats what flavour from the available options ? (éj
1. Sam - Strawberry, John — Butterscotch, Ann — Chocolate

2. Sam - Strawberry, John — Chocolate, Ann — Vanilla
3.  Sam — Butterscotch, John — Chocolate, Ann — Strawberry
4,  Sam - Chocolate, John — Vanilla, Ann — Strawberry

Which of the above could be correct ?
(A) land3 (B) 3and4 (C) 2and4
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How many rectangles are there i, the Ct;e :
SSboard ?
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Find out the next figure in the above series from the options

Y
| 11 ks :
(a) I (B) Iv (;@ (D). II
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Study the figures given below :

B
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below, choose the figure that will be most suitable to continue the pattern given
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(A) 3R ®) 5F (€ 2% (D) 4R |

A car travels”at a constant speed of 65 km/hr, how long will it take to cover a distance of

195 km ? .

(A) 3hr (B) Shr (C) 2hr (D) 4hr |
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number code for GREEN is 49, then the difference between the numb i TIW% ;
er codes of “VIOLET” and

“PINK” is :
(A) 45 (B) 60 (C) 55 (
D) 33
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Find out the number of triangles in the @iven
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91. g T ifeh =1 Titer ATH A F M FH P
(A) TS 5 (B) 5w
gindhu introduces a nian as th
Sindhu ? © son of the b

A) Nephew B : 2
(A) Nep (B) Cousin ] (©) Son (D) Grandson
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In the series F JN'R __ which letter comes next 47+
A V . B) U [:] © T D) S
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What comes next in the following sequence ? % é ggg (/7
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rother of her mother. How is the man related to

(A) Z (B) I
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Find the odd one from the following :
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(A) 1948 (B) 1950 © 1947 (D) 1949
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(D) fomar
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(A) 40WeH {+ (B) 287%% £ 2)

C) 60TSH - L] (D) 48we®

If 72 boys can build a wall of 280 m length l days how many take 18 days to build a

similar type of wall of length 200 m ?

(A) 40 boys (B) 28b

(C) 60 boys (D) 4
arrcrrfrawﬁmuwmmﬁ@zém%aﬂwﬁaﬁw S %m@aqwém%aﬁt'ﬂm

and gives an article free for buying every 15 articles
the marked price is above the cost price.

1 (©) 22% (D) 40.6%

ARDRAT g7 0 TR € | 4wl 3 2 ged fire 8 8 fAt A
firerd &, ot gebywfeer a1 s ot fomam fiverm =niee 2

complete a pigge of work in 14 days. 4 women and 2 men together can
0 per day, how@uch should a woman get per day ?

® (C) T400 (D) T480

@it ¥ 7T T FrEn Hi i s s o i gam § 39 a9 60% 6 T | AR
?rzo% i gfg Bt 2, it 38 o T e S wlie v @, 9% fireet o wdlie T S A
AR T ?

’s yearly budget for the purchase of employees’ protection shoes increased by 60% this year over
last year. If the price of the shoes increased by 20% this year, then the number of shoes it can purchase this
year is what percent greater than the number of es it purchased last year ?

(A) 33%% B) 48% {} ©) 140% (D) 142%

e firayor § g4 S AT T S 3 7%1?11%?&%:}10@&@&31%%‘ 3 ST ST 1 : 3 8 ST
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(A) 15 eftee ®) BHAI>R , @ © 10X (D) 11X

The ratio of milk and water in a mixture is 3 : 7. If we add 10 litres of water to the mixture, then the ratio
becomes 1 : 3. Find the initial quantity of milk.

(A) 15 litres (B) 13 litres (C) 10 litres (D) 11 litres

do it in 8 days. Ifam
(A) T450
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138.

139.

140.

141.

142.

143,

The amount of money appreciate

intereSt compounded annually_ h to¥ 700 after

€ initial amo
A) 490 (B) %43

4 years and to % 1000 after 8 years at a certain compound
unt of money was

(C) 470 (D) f410

237,500 T 4 91 % 1T 29% St e oy L] F——
Sl |

Calculate the simple interest on ¥ @
37,500 at thio tate of 2% per annum for 4 years.

(A) T3500 (B) 24000 EE (€) %5000 (D) 3000

Rem ¥ 40T 17:3% i i
R 3 ¥ S 8 3w A | 3w o ok gy frem F e 5707 3 39 AN
Y T A 7 1 E SR | gt e g gy o et 2 | :
(4y 8¥iX (B) 4efex © 12¥

40 litres of a mixture contains milk and water in the ratio of 17 : 3. Afl B\ of some morsmilk o

it, the ratio of milk to water in the resulting mé})éture becomes 7 : 1. 6 ‘ of milk added to it was
(A) 8 litres (B) 4 litres 1 (@ 12 I «(B) 6 litres

. & '
STt it hra § 20% Tt Tk WTEh 8,00 I 1 wlie &g e S & | Al S
rifirer T s feiom foer @ 2

A\
A reduction of 20% in the price of rice ena@o r to purchase 125 kg more for ¥ 8,000. What is

the original price of rice per kg ?
2 By

(A) T16 (B) 15 ©) %14 (D) T12
= | 2
9 et 1 ot 30 8 | Te v 25 e i 3 et s 35 &1 Ao ) © 5
- -~ ? o

13

The average of 9 nu is’ 30. The av[’%?age of the first 5 numbers is 25 and that of the last @
3 numbers is 35. What is the 6" number ? {::}]

(A) 30 (C) 20 (D) 40

) 50 &
A 3B emf1400%,33?({(;#343@141%311!&1?60§§Asﬂxca?raﬂaamm

ST 1440 2 | A1 C Y 1T A FE ? ®
The average monthly income of A and B is 400,
monthly income of C is

that of B and C is T 1560 and of A and C is ¥ 1440. The

(A) 71500 (B) %1550 (C) T1600 (D) %1400 yz 7
L d
42 30 49 o TR T AT (LCM) SARIHCE) T S T ?
The LCM and HCF of the numbers 42 and 49 are in the ratio of hH@
(C) 5:6 (D) 42:1




" 144, T XIS TeheE w1 § 9 1 240 e T T e ) 10 e i a1 ) & i T LA T
.‘ T 6 e B U 2 | Y YerTe Y s 3 Eh) = 1 i | - @
(A) 300, 180 feefiyeier (B) 200 #t, 50 faefi/erer %
© 3607, 216 Ffimier =~ (D) 300 ¥, 150 et 3

A train travelling at a uniform speed, clears a platﬁgyn 240 meters long in 10 seconds and passes a
telegraph post in 6 seconds. Find the length of the traifand its speed.

(A) 300 m, 180 km/hr (B), 200 m, 50 knm/hr
(C) 360m,216 km/hr (% 300 m, 150 km/hr
145. 90 Foeft/eroeT ot =rer 2 et @t 35 Hiet oish T ERT et 3 T @t iy ure i T G T € 2
(A) 1.9%=vg (B) 5uHvg (@ 1.8 THvg 1.4 TS
The time taken by a train 35 m long, running at 90 II, in crossing an ele m is
(A) 1.9 seconds (B) 5 seconds (C)" 1.8 seconds 1.4 seconds
146. T %1 ¥ ey FaiEl @ oftea 3o T 52 o1 SR Al % 42 o1 | AR =TT T

S ST 50 o, o Wit PRt b e T 2
The average salary of male employees in a firm was ¥ 52
mean salary of the employees was ¥ 50, what was the

(A) 20% & B) 30%

147. aﬁﬁﬁmaﬁs%% ﬁms%%mf&m
AT Foh 92T & 2
If the sales tax be reduced from 3 =

“of female employees was T42. If the
centage of female employees ? \

6% (D) 88%

article whose marked price is ¥ 4,2

(A) 6 (B) ((@ 9 (D) T7 0
1148. P, Q 3N R 7ot Ift oy g ORI R o Eeendt # S e € | 4 W e, P et foht
A3k # 50% Hr g A, qft & 20% i et Y | T o 36 90 228,210 F e e F Q T
2 T 2 =
3 P, Q and RE to a partnership by investinq_:gleir capitals in the ratio of % : % . % After
S

4 mon ed his capital by 50%, but Q decrégsed his capital by 20%. What is the share of Qin
of T 28,210 at the end of a year ? {}

,140 (B) 83,200 (@) 297,500 (D) 10,075
‘f}
149. 79 e ST Forshar 7o 1 I 15 : 14 8, Y g1 e 8 2

The ratio of cost price and selling price is 15 : 14, then(the loss percent is

(A) 16%% B) 50% © 6%%( (D) 40%
\‘150."15., % %, % 1 AEH GHTYET (LCM ) F1d ifg |
F.indtheLCMof%, %, %, 1—55
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